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with(linalg):
Al:=Matrix([[1,- ,2,6],
[1,4,-1,4],
[5,6,, 011);
1 -3 2 6
Al=|1 4 -1 4 )
5 6 120
A2:=addrow(A1,1,2,-1);
1 -3 2 6
A2=|0 7 -3 -2 @)
5 6 1 20
A3:=addrow(A2,1,3,-5);
1 -3 2 6
A3=|0 7 -3 -2 3
0 21 -9 -10
A4:=mulrow(A3,2,1/7);
1 -3 2 6
A4:=10 1 % % @

A5:=addrow(A4,2,3,-21);

1 -3 2 6
32
=10 1 -= -=
A5 T ®)
00 0 -4

# To swap rows, use syntax A6:=swaprow(A5,1,2);
# or, this more natural syntax using macros:
macro(swap=linalg[swaprow]);
macro(mult=linalg[mulrow]);
macro(combo=linalg[addrow]);

swap
swap, mult
swap, mult, combo (6)
Al:=<1,-3,2,6|1,4,-1,4]5,6,1,20>"+;
1 -3 2 6
Al=|1 4 -1 4 ()
5 6 120

A2:=combo(Al1,1,2,-1);



A2={0 7 -3 -2

5 6 1 20
"> A3:=combo(A2,1,3,-5):
1 -3 2 6
A43:=10 7 -3 -2
021 -9 -10
(> A4:=mult(A3,2,1/7);
1 -3 2 6

3 2
=0 1 -= -=
A4 - 7 7

(> A5:=combo(A4,2,3,-21);

1 -3 2 6

3 2
=0 1 -= -=
A5 7 7
0 0 0 -4

f> # To swap rows, use syntax A6:=swap(A5,1,2);
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